
Name:

Example

4 583
3 ×  100 - 300

158
3 ×  50

3 ×  2

- 150

2 100 + 50 + 2 =  152

152 r 2

3-Digit by 1-Digit with Remainders

Solve using partial quotients.

Add up the multipliers of the divisor 
to find the answer.

Find an easy 
multiple of the 
divisor and 
subtract from 
the dividend. 
Repeat until the 
number is less 
than the divisor 
or you reach 
zero.

multipliers

remainder

dividend

divisor

4 8 0 0 4 0

Partial Quotients Division

9683
b. c.

a.

e. f.

d.

g.
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6967

6525 5836

9144

7883

8
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7 × 90-630

99 r3

7 × 9

90 + 9 =  99

-63
3

66

ANSWER KEY

Work will vary.

3 × 300-900

322 r2

3 × 20

3 × 2

300 + 20 + 2 =  322

-60

2

68

-6
8

6 × 90-540

97 r1

6 × 7

90 + 7 =  97

-42
1

43

2 × 300-600

380r1

2 × 80

300 + 80 =  380

-160
161

1

4 × 200-800

228 r2

4 × 20

4 × 8

200 + 20 + 8 =  228

-80

2

114

-32
34

5 × 100-500

130 r2

5 × 30

100 + 30 =  130

-150
152

2

3 × 200-600

262 r2

3 × 60

3 × 2

200 + 60 + 2 =  262

-180

2

188

-6
8


